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CBA Practice test model answers 

Basic Accounting I (BAI) 

Practice assessment 1
Section 1
Task 1.1
[image: image2.png](a) What will be the entries in the sales ledger?

Sales ledger

Amount

Account name 5

Debit  Credit

lL Cohen

[IRP g

[Three Bees Lia

[Bradley Brothers

(b) What will be the entries in the general ledger?

General ledger

Amount
£

v 6000

Account name Debit  Credit

[Sales ledger control






Task 1.2
[image: image3.png](a) What will be the entries in the purchases ledger?

Purchases ledger

Amount

Account name 5

Debit  Credit

[Bansal Traders

[Rippon Ltd

(b) What will be the entries in the general ledger?

General ledger

Amount
£

v 1298

Account name Debit  Credit

[Purchases ledger conrol

[Purchases retums

AT





Task 1.3

[image: image4.png](a) What will be the entry in the sales ledger?

Sales ledger

‘Amount

Account name Debit  Credit

lURV Lta

(b) What will be the entry in the purchases ledger?

Purchases ledger

‘Amount

Account name 5

Debit  Credit

Pewan James

(c) What will be the FIVE entries in the general ledger?

General ledger

‘Amount
£

[Purchases ledger conrol 3

Account name Debit  Credit

[Office expenses

vaT

[Rent

[Sales leager control





Task 1.4

[image: image5.png]What will be the FIVE entries in the general ledger?

General ledger

Amount

Account name %

Debit

AT

[Office expenses

[Premises expenses

[Other operating costs

y cash control





Task 1.5

[image: image6.png]Drawings by owner

»|1Jun[Balance of 12165[30 Jun "~ |Balance cid 12415]4
»[200un[cash 250 4
> [Total 12415 [Total 12415]4
DI [Balance bid 12415 4
Cash sales
18Jun_[cash 100 1Jun___[Balance bf 1385

>[50 Jun "= Balance cia 1337 25Jun__[Cash 524
> [Total 1437 [Total 1437]4
> [ our [Balance bid 1337[4





Task 1.6

[image: image7.png][Sales ledger control 59,216 59216
[Cash atbank ,980) 1980
[Hotel expenses 25| 625
[Purchases ledger control 80,165 80165|
[VAT owing from HiM Revenue and Customs| 25| 25|
[Bank interest received 128 128
[Miscellaneous expenses .709) 1709
[Premises expenses 2001 2001
[Motorinsurance 2115 2115]
[Capital 27,593 27593
[Motor vehicles 45,427 45422
[Sales retums 308 308
[Purchases retuns .499) 1499
[Wages 29,615 29615
[Purchases 97,237 97232
[office equipment 39,397 39397
[Office expenses 5,385 5385
[Commission received 3,000 3000|
[Rentand rates 9,855 9855
[Eoan from bank 22,500 22500)
[Bank charges 245| 245|
[Petty cash 250) 250
[Motor expenses 58] 1588
[Bales 163,880 163880
[Totals 298765 298765|






Section 2

Task 2.1

[image: image8.png](a) Complete the entries in the purchases returns day-book by inserting the appropriate figures for each
credit note.

Purchases returns day-book

Creditnote  Total
number

Bosn  |GrantProducts ERR 20| 1600 1,00

oJun  [Dhilon Designs 31| 250 a0l 2200 2200

hosn  [pPTL Redg) 816 126 680 580

Bosn  [ocomnentia 4400|2000 0| 2000 2000

(b) Show whether the following statements are true o false.

|sales day-books should never include analysis columns.

|sales creditnotes are entered inthe sales day-book.

SIS





Task 2.2

[image: image9.png]Stamp, to be completed:

[Fas the corect rade discount been applied?

— |

[Has the comect setiement discount been applied?

[Not applicadle %]

[Can this credit note be authorised?

—

[Ithere is an error, what should be the total amount
lofthe credit note, including VAT?

le 204.00





Task 2.3

[image: image10.png](a) What will be the account code for Healy Ltd?

[FEALYOY

(b) What will be the account code for Hamnet Ltd?

[FaNED2

(€) Whatis the purpose of allocating account codes to suppliers?

To ensure accounts can be found quickly and easily in the sales ledger.

To ensure accounts can be found quickly and easily in the purchases ledger.

To ensure accounts can be found quickly and easily in the general ledger.

To comply with legislation





Task 2.4

[image: image11.png]Furchases ledger account reconciliation

Coom
saance utstanding a per suppler tatement 29 sy s s
voce 082 nlssing tom purchasss edgeraccount Kl : [

[Balance as per purchases ledger account & [2219





Task 2.5

[image: image12.png]Gold Ltd
14 High Street
Darton, DF 11 4GX

'BACS REMITTANCE ADVICE

To: [Grant Metals v Date: [31 July 20XX v

‘The following payment will reach your bank account within three working days.

Transaction dat number





Task 2.6

[image: image13.png](a) Complete the invoices below.

To: Bradshaw Ltd
300 The Parade
Darton, DF119GT

INVOICE NO 61700

Gold Lt
14 High Street, Darton, DF11 46X
VAT Registration No. 208 3827 04

Date: 10 July 20XX

Purchase order No: BR121

‘Amount before

Quantity Product s VAT Gross.
of units code ; £ £
[1.100 66160 1870 374 2244





Task 2.6 continued

[image: image14.png]INVOICE NO 61701

Gold Lt

14 High Street, Darton, DF11 4GX.
VAT Registration No. 208 3827 04

To P st 102000
S0 mens
ot o0 sms P
iy | promer | ATemBe e | oross
o pros i« s :
100 GG260 900 176.40 1076.40

Gold Ltd sometimes offers a discountf an order is placed for a large quantity of goods.

(b) Whatis the name of this type of discount?

[Bulk discount





Task 2.7

[image: image15.png]'STATEMENT OF ACCOUNT

GoldLtg
14 High Street, Darton, DF114GX.

To: Osbome and Wright Date: 31 July 204¢

1 uly |opening balance 2125
l6 Juty lInvoice 281 1100
|8 July [Credit note CNE1 1526
115 July [Invoice 283 3490
118 July [invoice 287 1580
|20 July [invoice 295 726
|29 July [Credit note CN68 350
I31.Juty [Invoice 300 1135
(31 July [Credit note CN72 420

[Total amount outstanding 7830





Task 2.8

[image: image16.png](a) Has the correct amount been paid?

Yes, the cheque was recsived too late to claim the discount.

Yes, the cheque was recsived within 7 days and the discount was taken

No, the cheque was received oo late to claim the discount

No, the cheque was received within 7 days butthe discount was nottaken





[image: image17.png](b) What TWO items have not been included in the payment?

Invoice 101

invoice 109

Credit note 26

Invoice 126

Cheque.

Invoice 141

Invoice 150

Credit note 40






Task 2.9

[image: image18.png]Select one option in each instance below to complete the sentence.

Capia income occurs when [rmaney 1 eceied eaing o ne-of ransaclons such 5 he 3le of an asset.

Revenue income occurs when [rone s receed rlang o reguir ransacions such a3 3363

Capial expenitur aceurs when 3 purchase, eraion ormprovementof an asselares pace

Revenus expendiure occurs when [3purchass s made r9Ing o 9oy o Gay wming opemees

caaionto a AT s dssedas
The purchase of pastage stamps fom petty cash i classed as =




Task 2.10

[image: image19.png](a) Show whether the following statements are true or false.

Liabilties less capital are equalto assets

SN ——,

[SS————

I assets total £10,000 and liabilities total £5,000 whatis the amount of capital? 5000

I capitaltotals £35,000 and assets total £45,000 what is the amount of liabiliies? 9000

Ifliabilties total £15,000 and capital totals £68,000 whatis the amount of assets? 83000





